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2. If the width of
the sandbox was to
decrease and the
area was to remain
200 square feeft,
how would the length
change?

* Solve P= 2| + 2wfor'n.

e 1. If you hav€ 100 feet of

lumber to construct the
o= P sides of a sandbox, and
A5 w | feet, how long can the
sandbox be?

B |2 If the width of the
sandbox was to increase,
but the perimeter was to
remain at 100 feet, how
would the length have to
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base of 5 cm, how big

~bb, “hb,

i(5::.I~.r'¢3 V=lwh for w -\-{-__._ Q UU"'\ \[ . Vblu =
1, Indesigning a box to J 1% L
have(@ volume of 500 cmi) \J= 500 e
length 10, and height 15, _\_f_ -~ W Q ) -----—l|—3 =
what is the width? h o N P 5 10LY%
- S0 _ w
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2.) If the volume of the -
ng was to increase, but .Q =10 (OO a3 3% =W
the length and height were h - 15 | ‘_15) i
to remain unchanged, how - (00 0 "
wauld the width have to V=6 00 - w  wE b
change? wotdih (5 M)
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a. if a trapezoid has an ?
s = hb ‘
| AA=hby kb
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must the other base S e
be.
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